Physics 102 Spring 2007: Suggested Problems # 6

1. Problem 27-64. (45 pts)

a. +3 pts - Correct value for the current after applying Kirchhoff’s rules for circuits.

I =0.3A.

b. +1 pt - Correct power through the battery.

Py =VI=18W.

c. +1 pt - Correct power through the resistor.

Pr=VI=I*>R=18W.

2. Problem 27-80 (+5 pts)

a. +5 pts - Correct answer for the charge on the plates with correct sign (Qc = 5uC with
top plate positive).

b. +5 pts - Correct answer for the current through the 35-Q) resistor (I35 = 0.1A4).
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